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For each question, circle the correct answer. (Only one answer is correct)
1) Let f be the function defined by: f(x) = In(x? + 5x + 6). The domain of f is :
a) ]—oo; —3] U [—2; +o b) ]-3; —2[ c) ]-2;1[ d) ]—o0; =3[U]-2; +oof
2) Let f be the function defined by: f(x) = In (:::3). Then xlier flx) =
a) —In2 b) In2 c) —In3 d) (n3
— . 28" .
3) The derivative of f(x)=e" — IS:
X+1
M (x?+1)e* 2e* 1
a)-e b) (x+1)? c)e* - (x+1)2 d)e* - (x+1)2
sx _ 1 —
4)f(e X x) dx =
a)§e5x—1n|x| +C b) 5e5* —In|x| + C c)%eSx—x‘2+C d) %35’5—(lnx)2 +C

5) Let f be the function defined by: f(x) = Inx + e~*. The equation of the tangent to the curve of f at the
point of abscissa 1 is:

a)y=e lx+2e?! b)y=01—-eDx+2e1-1
y=(1-eHx-1 d)y=(1-eDx+2e?
6) Let f(x) =— U Then the curve of fadmits:
e —
a) 0 asymptote b) 1 asymptote C) 2 asymptotes d) 3 asymptotes.

7) Let f be the function defined by: f(x) = a(lnx) — x, where a > 0. Then the function f admits:
a) a local minimum at the point of abscissa a. b) a local minimum at the point of abscissa 1/a.

¢) a local maximum at the point of abscissa a. d) a local maximum at the point of abscissa 1/a.

8) Let f be the function defined by: f(x) = 2x — e~ + 2. Then the function f :

a) is strictly increasing over IR. b) is strictly decreasing over IR.
c) admits a local minimum. d) admits a local maximum.
9) Let f be the function defined by: f (x) = x2:§+5 . An antiderivative of f is:
lx2+x 1 1
2z " 1 2 2
a) Ly b) > In(x*+2x +5) c) In(x* + 2x +5) d) g

10) The function f(x) = x? — 3e™* + In (x+1) admits a root @. Then a €
a)10,6;0,7 [ b)10,7;0,8 [ c)10,8;09][ d)10,9; 1]



